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( { ) The table shows some of the values of y = x2 + x for values of x from -3 to 2.
) @ (a) Complete the following table which gives values of y = 5 - x for values of x from -2 to 4.
(a) Complete the table by finding the value of y for x = -1. (1]
x -3 12 o 0 1 2 - 2 ! 0 i 2 > :
— s 2 1 5 4 1 -4 -11
y=x2+x 6 2 0 2 6 4 -
(b)  Using suitable scales draw the graph of y =5 — x2 for values of x from -2 to 4 on the graph
paper below. 3
AY
(1] i
{b)  On the graph paper below, draw the graph of y = x? + x for values of x from -3 to 2. ! 1] : : ;
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B } HERER ; L IR BN RAENEEREEY (c) Draw the line y = 2 on the graph paper and write down the x-values of the points where the
" | {4 -t - - i | two graphs intersect.
{2]
(T184m) Turn over.
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(a) The cost of a stand season ticket last year was £200. This year it has increased to £250. Find
the percentage increase in the cost of the stand season ticket.

[31

(b) Two friends, Nigel and Paul, decide to share the cost of a £100 field season ticket in the

ratio 4:1.

(i) How much each should each of Nigel and Paul pay towards the cost of the ticket?

Nigel Pays ... Paul pays ...
[2]

(ii) In the season there are 45 matches to attend. Nigel suggests that they take it in turns
to attend every other match. Would this be a fair suggestion? You must explain your
answer giving an alternative suggestion if you decide that this would not be a fair
method.
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3 The table shows some of the values of y = x° + 3 for values of x from -3 to 3.

(a)

Complete the table by finding the value of y for x = -1 and x = 2.

-3

x

y=x3+3

-5

30

(b) On the graph paper below, draw the graph of y = x* + 3 for values of x from -3 to 3.

(185-04)

20—

-10

20

[2]

(21

Turn over.
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The table shows the values of y = 3x* — 2x — 5 for values of x from -2 to 4.

(a)

(b)

y=3x2-2x-5 11 0 5 | -4 3 16 | 35

On the graph paper opposite, draw the graph of y = 3x%—2x - 5 for values of x between —2
and 4.
(21

Draw the line y = 5 on your graph paper and write down the x-values of the points where
your two graphs intersect.

(A18413)
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For use with Question 4
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f x from -2 to 4.
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2x? —5x -8 for val

/ The table shows some of the values of y

7

(

=3.

Complete the table by finding the value of y for x

(a)

-10

-11

-1

10

2x’-5x -8

y=

(1]

—5x -8 for values of x between -2 and 4.

(2]

y=24
3 on your graph paper and write down the x-values of the points of

On the graph paper opposite, draw the graph of

(b)

Draw the line y =
tersection of your line with y = 2% —5x 8.

1

(c)

[21

Write down and simplify the equation in x whose solutions you found in (c).

(1

(d)



6 ; ) The table shows some of the values of y = 2x? — 5x — 3 for values of x from -2 to 4.

O34/

(a) Complete the table by finding the value of y forx =-1.

x -2 -1 0 1 2 3 4
y=2x>-5x-3 15 -3 -6 -5 0 9
{1
(b) On the graph paper opposite, draw the graph of y = 2x2 — 5x — 3 for values of x between -2
and 4.
3]

(¢) Draw the line y = 3 on the graph paper and write down the x-values of the points where your
two graphs intersect.

(2

(d) Write down the equation in x whose solutions are the x-values you found in (¢).

(1
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The table shows some of the values of y = 3x? + x - 5 for values of x from -3 to 3.

(a) Complete the table by finding the value of yforx=-2.

x -3 -2 -1 0 1 2 3
y=3x*+x-5 19 -3 -5 -1 9 25
(1
{b)  On the graph paper opposite, draw the graph of y = 3x? + x — 5 for values of x between
-3 and 3. 3]

(c) Draw the line y = 11 on your graph paper and write down the x-values of the points where
your two graphs intersect.

[2]
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The table shows some of the values of y =3x+ % for values of x from 1 to 5.

(a) Complete the table by finding the value of ywhenx=1andx=2.

17

1
(b) On the graph paper opposite, draw the graph of y =3x + % for values of x between 1 and 5.
. [1]
(c) Find the coordinates of the point of intersection of y = 3x + lAQ
and y = 27 — 4x which lies between x = 1 and x=5.
(2]
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